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The Cost of Postage for a Letter

Cost of postage

1 2 3 4 5 6

Weight in ounces
This graph describes how much it will cost to send a letter depending on the weight of the
letter. I've labeled the steps so that you better understand the explanation below.

Step 1: Ifthe weight of the letter is over 0 0z and up to 1 oz (including 1 oz, since the
circle is closed), it will cost 39 cents

Step 2: Ifthe weight of the letter is more than 1 oz (not 1 oz exactly because the circle is
open) and up to 2 oz (including 2 oz since the circle is closed), then the price is 41 cents

Step 3: Ifthe weight of the letter is more than 2 oz (not 2 oz exactly because the circle is
open) and up to 3 oz (including 3 oz since the circle is closed), then the price is 43 cents

Steps 4-6 follow the same pattern as steps 1-3 described above.

As you can see, this graph tells you exactly how much your letter will cost depending on
the weight. A discontinuous graph must be used because the price stays the same
between ounces, but then changes to the next price as you reach a whole ounce.




